entity lab8_partl is
port(

1 _clk:
addr:
o_addr_sseg_A:
o_addr_sseg_B:
o_data_sseg_E:
o_data_sseg_F:

J);
end entity;
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out
out
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std_logic;

std_logic_vector (4 downto 0);
std_logic_vector (6 downto 0);
std_logic_vector (6 downto 0);
std_logic_vector (6 downto 0);
std_logic_vector (6 downto 0)

I IR

00 0 J 20 )30 0 )6 0 )80 }90 JA0 JBO JCO )D 0 )0 21 |3 81 ]9 ] ) oo
IE Cursor 1 Ops —I

1111111 1111001 111...
1000000 ﬁ 1111001 ﬁ 10...

CE 1911

entity lab8_partl_del0 is

port(
CLOCK_50: in std_logic;
SW: in std_logic_vector (5 downto 0);
HEXO: out std_Tlogic_vector (6 downto 0);
HEX1: out std_logic_vector (6 downto 0);
HEX4: out std_logic_vector (6 downto 0);
HEX5: out std_logic_vector (6 downto 0)
)s
end entity;
lab8 part1:DUT
clk_1hz:CK . o addr_sseg AI6-0) ™ HEXO[6.0]
. 5:1|_addr[.-£1..0] o_addr_sseg_B[6.0] D HEX1[6..0]
CLOCK_50 D |_clk_5F)MHz o_clk_THz i_clk o_data_sseg_E[6.0] D HEXA4[6.0]
SW[5.0] D 0 i_rstb o_data_sseg_F[6.0] D HEX5[6.0]
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